
Manuel d'installation / Installation manual V1

030-1164
Support mobile TV 32''-75'' 

32" to 75" TV mount
Charge maximale (70kg) / Max Load Capacity: 154lbs 

VESA  100x100mm ~ 600x400mm

Be sure to read this entire manual thoroughly and you fully understand all the instructions and warning before attempting to begin your installation.
This product should only be installed by someone who has  a basic knowledge of building construction, installations and fully understands these 
instructions.
Always have someone assist you to lift and position your equipment.
Tighten screws and bolts firmly, but do not over tighten. Over tightening can damage the items and greatly reduce their ability to hold. Please refer to 
suggested torque values where applicable in these instructions.

Veillez à lire attentivement l'intégralité de ce manuel et à bien comprendre toutes les instructions et tous les avertissements avant de commencer 
l'installation.
Ce produit ne doit être installé que par une personne ayant des connaissances de base en matière de construction et d'installation et comprenant 
parfaitement ces instructions.
Demandez toujours à quelqu'un de vous aider à soulever et à positionner votre équipement.
Serrez fermement les vis et les boulons, mais ne les serrez pas trop. Un serrage excessif peut endommager les éléments et réduire 
considérablement leur capacité de maintien. Veuillez vous référer aux valeurs de couple suggérées, le cas échéant, dans ces instructions.

ATTENTION



Dimensions

Installation 

1 2
5mm

2

D7

X2X2X2X1

D3 D4 D5 D6

X2

600mm(L/R)700mm

3’’3’’

Parts list / Composants

X1
M5X15 M6X15 M8X25 Ø16XØ6.2X1.5 Ø16XØ8.2X1.5 Ø13XØ8.2X13

X4 X4 X4

A1 A2 A3 A4

X4

M8X45

X4

A5 A6 A7

X4 X4

Ø13XØ6.2X1.5M8X45 M6X12M8X10

X14 X4
X1

5mm 6mm

B1 B2 B3 B4

X1 X1 X8

B5

X8

VESA 400

X2

D8 D9

X4

VESA 600

D2

D3

B1

D1

X1 X1

D2

1000mm

90
°

11
80

m
m

 [4
6.

5″
]

666mm [26.2″]

131.3mm [5.2″]

200mm [7.9″]
100.4mm [4.0″]

10
0m

m
 [3

.9
″]

20
0m

m
 [7

.9
″]

40
0m

m
 [1

5.
7″

]

636mm [25.0″]
Ø8.5mm [Ø0.3″]

90°

769.3mm [30.3″]
3"

74mm [2.9″]

D5

D6

D4

D9

Locked 
wheels first

Bloquer les 
roues d'abord



A1/A2
/A3/A5

43
5mm

3

6mm

D1B1

B2

5 6

7 -c

6 6-b -c

-a VESA （100x100~200X200）

A1/A2/A3

A1/A2
/A3

B4

7

D7

B4

B5

D8

-a -b7 VESA 
（300X300~600x400）

A4/A6

4mm

A7



4

7 -e7 -d

B4

8

9

90°

45°

90°

4mm




